Stahon #\

(2,18) ond (%,30) T

Be-1® _ I8 - 3lbs | oty

8-2 b | Mmont

f(at3)=¢6 (at3)-8
> Bat15-§ | £(@12)= 5a+7)
: 50+

(8,10) omg\' (-3,\0) \ Zey O

Lo, O =

-3-§ - 1|

Az 2 B=200)to

(10,%) 5:2 +b 3:_7_><-\‘5

\

he ¢ b= -\$




Station B2k

X-ioy: (=3,0)  m: S;Q.J___%:-_iwrs
3

Y-int: (0,5) 63 3
b=%

m=%/3

-Y= -L-(m?D rk—-hu’z‘%-—\\

e e

cysd x ¢ 2-12 | ov

- i

L

29—‘6=\x+3 lx"i.tj el 1

29-: W+ 1

'\X*th =\l or

_2?("-1(4/'[‘8'

lwnz: Yo 0= TW) +b
X-iat: (4,8) 6% 2+ Y = L x-2
b=-2
: 2.><=L19 +8 r><-m-t'- (_'—\,03 ‘
| 2%=Y4y+¥ y-wt ¢ (6, -2)
|




Sl:!t : *E:

L FED) = =2+ (-2)
= -(D-12 F(-2)= -l
e P
= -\

2. £0)= -2XFIO 00) > Sx+ 4

Yeint: 10 Y=int: ke
4.0x) - £0x) | oitrerenee s 4]
4 —10 = g =

(L&) and (b,- )

-o-% -4
6l 0

onaefineA.




L Stohen ® U

Q)__Dnmc\&.n_'-.i_-i;lﬂfﬁj

| o) Ronge: §6,4%
c) \es wnlc +he domain dges not repeat.

|
|
A X 4By =l #ro= - 2=-z3(-N*p
3y = ~Ix o (-1,2) 2: Y2 v
Y= -%_X-l-?_ b'é" b= 513
Y= =L X &
3
" 5)(1'@___’-‘— 1S defv s Sles
§9=-5x 15
Lj'——_g__yf%
P s
< L X=[0
s )
M.




